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Cuadro 7 (continuación 1)/Table 7 (continued 1)
Costa Rica: tablas abreviadas de mortalidada

 Costa Rica: abridged life tables 
a

1960

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.102 0.095  100 000  9 533  93 295 0.891 b 5 908 718 59.1
1 4 0.010 0.038  90 467  3 437  352 300 0.972 c 5 815 422 64.3
5 5 0.002 0.010  87 029   866  432 982 0.992 5 463 123 62.8

10 5 0.001 0.006  86 163   493  429 586 0.993 5 030 140 58.4
15 5 0.002 0.008  85 671   691  426 628 0.990 4 600 555 53.7
20 5 0.002 0.012  84 980  1 017  422 360 0.987 4 173 927 49.1
25 5 0.003 0.014  83 964  1 206  416 804 0.985 3 751 568 44.7
30 5 0.003 0.016  82 758  1 350  410 415 0.982 3 334 763 40.3
35 5 0.004 0.020  81 408  1 639  402 943 0.977 2 924 348 35.9
40 5 0.005 0.027  79 769  2 135  393 508 0.969 2 521 405 31.6
45 5 0.007 0.036  77 634  2 822  381 117 0.956 2 127 897 27.4
50 5 0.011 0.052  74 813  3 926  364 247 0.935 1 746 779 23.3
55 5 0.016 0.079  70 886  5 615  340 393 0.901 1 382 532 19.5
60 5 0.026 0.121  65 271  7 897  306 614 0.849 1 042 139 16.0
65 5 0.041 0.186  57 375  10 659  260 225 0.778  735 525 12.8
70 5 0.061 0.266  46 716  12 422  202 522 0.694  475 300 10.2
75 5 0.088 0.361  34 293  12 386  140 501 0.585  272 778 8.0
80 5 0.135 0.499  21 907  10 937  82 194 0.448  132 277 6.0
85 5 0.206 0.658  10 970  7 220  36 800 0.304  50 083 4.6
90 5 0.309 0.806  3 750  3 023  11 192 0.177  13 283 3.5
95 5 0.442 0.910   727   661  1 981 0.053 d  2 091 2.9

100 ω 0.594 1.000   65   65   110   110 1.7
Mujeres/Females

0 1 0.084 0.079  100 000  7 893  94 447 0.907 b 6 203 807 62.0
1 4 0.010 0.038  92 107  3 465  358 960 0.973 c 6 109 360 66.3
5 5 0.002 0.009  88 642   795  441 221 0.993 5 750 400 64.9

10 5 0.001 0.004  87 847   388  438 263 0.995 5 309 179 60.4
15 5 0.001 0.006  87 458   506  436 026 0.993 4 870 917 55.7
20 5 0.002 0.009  86 952   781  432 807 0.989 4 434 891 51.0
25 5 0.002 0.012  86 171  1 062  428 200 0.986 4 002 083 46.4
30 5 0.003 0.015  85 109  1 315  422 259 0.983 3 573 883 42.0
35 5 0.004 0.019  83 794  1 578  415 028 0.979 3 151 624 37.6
40 5 0.005 0.024  82 217  1 933  406 252 0.973 2 736 596 33.3
45 5 0.006 0.031  80 284  2 492  395 190 0.963 2 330 344 29.0
50 5 0.009 0.044  77 792  3 393  380 477 0.946 1 935 155 24.9
55 5 0.013 0.064  74 399  4 791  360 017 0.919 1 554 677 20.9
60 5 0.021 0.098  69 608  6 819  330 992 0.877 1 194 660 17.2
65 5 0.032 0.151  62 789  9 452  290 314 0.813  863 669 13.8
70 5 0.052 0.230  53 337  12 241  236 082 0.722  573 354 10.7
75 5 0.082 0.341  41 096  14 022  170 426 0.601  337 272 8.2
80 5 0.130 0.486  27 074  13 148  102 503 0.459  166 846 6.2
85 5 0.201 0.649  13 927  9 041  47 032 0.310  64 343 4.6
90 5 0.310 0.807  4 886  3 943  14 572 0.177  17 311 3.5
95 5 0.433 0.905   943   853  2 580 0.058 d  2 739 2.9

100 ω 0.565 1.000   89   89   158   158 1.8

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


